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Finmally, we consider a particle of mpss m, charge 4, moving in 2 uniform
constant electric feld intensity E and a uniform constam magnetic induction B.
Again et the z-axis be chosen in the direction of B, and let the y-axis be chosen
so Lthat E is parallel 1o the yz-plane:

B=B, E=Ep+E2 {3.300)
where B, E. E, are constams. The equations of motion, by Eq. (3.283), are
il
mi =g (3.301)
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mi = = i+ 4, . (3.302)
=
mi = gf, {3.303)
The z=compaonen of the moion is uniformly acoclerated:
1gE_ .
m = :u+£¢.r+—ua'. (3304
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To m[-.fc the x and y equations, we differe
(3.302) in order 1o eliminare P

ntiate Eq. 13301} and substilute in Fqg,

m_c 7= r,lﬂ: -
g~ = o k+ak,. 13.305)
By making the substitujons
] = ‘_I?l
e 13.306)
g = TEs

=l (3.307)
we can write Eq. (3.305) in the form :
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= = s

(3.308)

.EL::.ELTF:-“]U” las the I::.:;j.rnr: form as the equation for a harmonic oscillator with

FHUEREY e subyect 1o a constant applied “force™ i
ngubic suiectl G2 e, excepl that © appears
im E‘ I]J.-:-L af tﬁhr: mur-;!m.u::.‘ The corresponding oscillator problem was ::mnlig::rd
n Lhapter 2, Problem 42 The solution in this cyse will he
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